2006 2007 2008
3-
10 10 10
3 3 3
1 1 1
3-
100 85 100
1.4% 1.5% 1.6%
3-
30 32 34




2006

2007

2008




14,765,986 11,745,899 3,020,087( [ 5,270,000 1]

9,827,480 3,500,625 6,326,855 [ 5,270,000 ]

3: 9,827,480 3,410,145 6,417,335| [ 5,270,000 ]

3- 7,880,421 1,774,238 6,106,183 [ 5,270,000 ]
220,210 178,149 42,061

(2110-211B-120-201-01)

- Citynet

(2110-211B-120-202-01)

(2110-211B-120-202-03)

-LA 40
(2110-211B-120-203-03)

(2110-211B-120-301-07)

(2110-211B-120-301-08)

500,000
) 500,000
300,000

75,800 * 2

*3

1,300,000

5,000,000

2,500,000
3,000,000

3,000,000

* 4
* 3

* 2

1,000,000

2,000,000 * 3

* 4

2,000

2,000

1,200

5,000

6,500

910

2,600

15,000

40,000
18,000

7,000

12,000
3,000

24,000




(2110-211B-120-307-04)

= 60,000
(2110-211B-420-310-01)
LA * . = 11,000
= 5,000
. = 5,000
32,600 32,600 0
(2110-211B-120-201-01)
= 600
(2110-211B-120-202-03)
2,000,000 * 8 *2 = 32,000
20,200 20,200 0
(2110-211B-120-301-08)
(=20,200)
800,000 * 1 * 12 = 9,600
800,000 * 1 * 12 = 9,600
500,000 * 2 = 1,000
22,529 36,507 14,068
(2110-211B-120-201-01)
7 = 5,000
(2110-211B-120-202-01)
75,800 * 3 *2 *6 = 2,729
(2110-211B-120-202-03)
8 )
1,000,000 * 6 = 6,000
1,400,000 * 2 = 2,800
2,000,000 * 3 = 6,000
92,000 92,000 0




(2110-211B-120-202-03)
2007. C .
(2110-211B-120-301-07)

2,000,000 * 40

2,000,000 * 3 * 2

80,000

12,000

7,492,882

1,342,292

6,150,590

[ 5,270,000 ]

(2110-211B-120-201-01)

(2110-211B-120-202-01)

(2110-211B-120-203-03)

(2110-211B-210-401-01)

L 5,270,000 1,000,000]

5,000,000
(2110-211B-220-206-00)

(2110-211B-220-306-00)

8,000 * 500

70,000 * 20 * 2

75,800 * 2 *3 * 13
97,400 * 3 * 4

1,500 * 2,000

10,000
4,000
4,000
2,800

5,913

1,169

34,000
12,000

6,270,000

3,000

1,000,000
146,000

602,900

781,200

178,300

143,000

159,000

16,000

-3-




)
(2110-211B-120-201-01)
15,000
(2110-211B-120-202-03)
128,000
159,400 280,200 120,800
(2110-211B-120-201-01)
1,000,000 * 40 40,000
8,000,000 * 10 80,000
(=12,600)
- 700,000 * 6 4,200
_ 700,000 * 6 4,200
- 700,000 * 6 4,200
(=6,800)
- 40,000 * 70 2,800
_ 40,000 * 70 2,800
- 40,000 * 30 1,200
(2110-211B-120-202-03)
( ) 2,000,000 * 10 20,000
300,500 342,000 41,500
(2110-211B-120-202-03)
288,500
@ ) 12,000
3- 1,344,159 854,707 489,452
186,649 303,197 116,548
(2110-211B-120-201-01)
1,000,000 * 2 2,000
40,000 * 50 2,000
20,000,000 * 1 20,000




(2110-211B-120-202-01)

(2110-211B-120-202-03)

(EIBTM)
(INE)
(AINE)
IMEX
(2110-211B-120-203-03)

(2110-211B-120-301-07)

10,000 *
10,000 *
200,000 * 5
300,000 * 5
300,000
200,000

130,000

70,000 * 5

1,000,000 * 2
2,000,000

75,800 * 2 * 3
(I1T&ME)
3,000,000
(I1T&CNA)
2,500,000
3,000,000
1,500,000
3,000,000
3,000,000
3,000,000 * 2

*
N NN N W N

3,000
1,000
2,000
3,000

600
1,200

1,040

1,050

2,000
2,000

3,639

9,000

5,000
9,000
3,000
6,000
6,000

3,000

18,000




)
(2110-211B-120-301-09)
65,000 * 6 * 12 = 4,680
44,000 * 6 * 12 = 3,168
88,000 * 6 * 12 = 6,336
156,000 * 6 = 936
(2110-211B-220-401-04)
= 20,000
10,000,000 * 1 * 4 = 40,000
(2110-211B-420-310-01)
2,000,000 * 4 = 8,000
1,157,510 551,510 606,000
(2110-211B-120-201-01)
(=35,000)
- 5,000 * 3,000 = 15,000
- 4,000,000 * 5 = 20,000
3,000 * 1,000 *3 = 9,000
70,000 * 11 *3 = 2,310
(2110-211B-120-202-03)
(Metropolis) 2,666,600 * 3 = 8,000
( 2,500,000 * 2 = 5,000
(DVAID) 3,000,000 * 2 = 6,000
(ICCA) 2,500,000 * 2 = 5,000
(AACVB) 1,500,000 * 2 = 3,000
(2110-211B-120-307-02)
= 450,000
(2110-211B-220-307-05)
APEC = 300,000




(2110-211B-220-401-01)

APEC = 300,000
(2110-211B-420-310-01)
= 15,000
= 6,000
(AACVB) = 3,000
(DVAI) = 3,000
1,200,000 * 3 *2 = 7,200
655,007 3,018,629 2,363,532
(2110-211B-110-101-02)
(=149, 424)
(=112,728)
- 3,847,000 * 2 * 12 = 92,328
- 1,700,000 * 1 * 12 = 20,400
(=36,696)
- 729,000 * 2 * 12 = 17,496
- 1,600,000 * 1 * 12 = 19,200
(=114,060)
« ., ) 2,708,000 * 2 * 12 = 64,992
2,044,500 * 2 * 12 = 49,068
(2110-211B-110-101-03)
( ) 130,000 * 5 * 12 = 7,800
(2110-211B-110-101-07)
( ) 205,533,000 * 70% * 10 / 360 = 3,997
(2110-211B-110-101-08)
( ) (=229,614)
(=205,534)
—o (46,896,000 + 46,896,000 * 70% * 3%) * 1 = 47,881




)
—no (41,166,000 + 41,166,000 * 70% * 3%) * 2 = 84,061
—no (36,039,000 + 36,039,000 * 70% * 3%) * 2 = 73,502
(=23,120)
—no 9,078 * 48  *1 *12 *1.03= 5,386
—no 7,969 * 48 *2 *12 *1.03 = 9,456
—no 6,976 * 48 *2 * 12 * 1.03 = 8,278
(=960)
- 20,000 * 4 * 12 = 960
(=16,232)
S (15,898,000 + 15,898,000 * 70% * 3%) * 1 = 16,232
(2110-211B-120-201-01)
= 1,000
= 40,650
23,000 * 20 = 460
40,000 * 12 = 480
40,000 * 12 = 480
40,000 * 12 = 480
= 1,400
500,000 * 4 = 2,000
300,000 * 3 = 900
= 2,000
= 26,100
(2110-211B-120-202-01)
100,000 * 29 * 12 = 34,800
(2110-211B-120-203-04)
350,000 * 12 = 4,200

(2110-211B-120-204-02)




(=14,520)
.o 400,000 * 1 12 = 4,800
.o 250,000 * 2 12 = 6,000
' 155,000 * 2 12 = 3,720
(2110-211B-120-204-03)
( ) 50,000 * 4 12 = 2,400
(2110-211B-220-405-01)
700,000 * 1 = 700
(PC) 1,400,000 * 1 = 1,400
4,283,409 5,226,645 943,236
(5110-5111-310-311-04)
(=379,409)
"9 ) 600,000,000 * 4.68% * 1 = 28,080
99 ) 2,423,000,000 * 4.68% * 1 = 113,397
00 ) 5,084,000,000 * 4.68% * 1 = 237,932
(5110-5111-310-601-04)
(=3,904,000)
9% ) 3,000,000,000 * 1/5 = 600,000
99 ) 7,000,000,000 * 1/5 = 1,400,000
(00 ) 9,520,000,000 * 1/5 = 1,904,000




